4% 5 Fib AL . . A & e I T % B
TETF Al - FARB FOEERVESER—BER iz O S wewn | BB [E0F| xewn | B [20%| guwn | B % [EUF| senn | B B
T ™ AR =0 S 5 7R AT 2 @ | 15000 | -1.3] 1 () | 20100 [ 2.0 — 3 (3 | 16,700
HETH A spmy | BB (BOER] gopy | @ B [EDE] sy [T B [ZBE[ gy [ B B [EDE WIFET 2 @ | s100|-t6] 1 | 4100]|-22 — 3 @ | 3400
BT 34 (34) | 42,600 | 0.3 | 17 (7| 96,800 | 0.2 2 @ | 24700 | 22| 53 (53) | 59,300 | -0.2 aELs ] 4 @ | 5000 |-1.3] 1 @) | 16800 |-1.2 — 5 (5 | 7,400
AT 2 (26) | 44,300 | 03| 7 (» [12990 | 02| 2 @ | 28700| 1.1] 35 (35 | 60,500 | 0.3 AR 1) | 2600 |-23 — — T | 2600
@ 13 (13 | 30,100 | -0.2| 5 (@ | 42,000 | 0.1 — 18 (17) | 33,400 | -0.2 R 1) | 430 -23 — — 1 | 430
e 4 @ | 3080 |-09| 2 @ | 44,400 |-1.7 — 6 (6) | 35300 | 1.1 At 1o | 5100 -1.9 — — 1M | 5100
R 14 (14) | 20,300 | -0.9| 8 @ | 4430 |-1.0] 1 (@ | 11,800 0.0 23 (@3) | 28,300 | -0.9 FARR 1 | 290 |-2.0 — — 1M | 290
B 4 @ | 37000 |-06] 2 @ | 46600 -09| 1 ) |2230]| 00| 7 (@ | 37,600 -0.6 ES L34 1) | 4400 | 2.2 — — 1 () | 4400
AR 5 (5 | 30,100 -06]| 2 @ | 43,700 | 0.8 — 7 (D) | 34000 | 0.6 REH 1o | 1,900 | 2.1 — — T | 1,900
N 3 @ | 1930] 00| 2 @ | 25100 |-0.8 — 5 (&) | 21,600 | -0.4 EARH 1 | 12600 |-08] 1 @ | 17.600 | -1.1 — 2 @ | 15,100
EE 6 6 | 12,600 | -1.2] 3 @ | 32200 -1.6 — 9 @ | 19,100 | -1.3 @ E A 1) | 12,800 | -1.5| 1 () | 15800 | -1.9 — 2 (@ | 14,300
- 4R 3 (3 | 18,500 | -1.3 | 3 (3) | 27,800 | -1.9 — 6 (6) | 23,200 | -1.6 REH T 1,900 | -2.1 — - T 1,900
i 7 (| 23600 -07] 2 @ | 3620 |-03 — 9 (9 | 26,400 | 0.6 BT 1) | 12,90 | -3.0 — — 1) | 12,90
KETTH 6 (6 | 10,200 [ -1.2] 1 (1) | 20,100 | 2.4 — 7 | 11,600 | -1.4 R 3 @ | 7000 |-21] 1 () | 13600 -2.9 — 4 @ | 8600
gL 4 @ | 14700 [-1.4] 1 ) | 24,700 | -1.6 — 5 (5 | 16,700 | -1.4 ESétad 1) | 10600 | -1.9| 1 () | 12,200 | -2.4 — 2 @ | 11,400
FHH 5 (5) | 18,400 | -0.9| 1 (1) | 55400 |-1.8| 1 (1) | 25400 |04 7 @ | 24700 1.0 EZ-251 1 (1) | 5600|-26 - — T | 50600
tER 7 | 37400 0.7] 5 & | 5230 00| 1 () | 3000 | 10| 13 (13 | 42,600 0.4 KEHt 1) | 6700 -26 — — 1M | 6700
A 12 (12) | 23,200 | -0.2| 6 (6) | 33,400 | -0.1 - 18 (18) | 26,600 | -0.2 KT 6 6 | 10,500 | -3.1| 1 (1) | 28000 |-3.4 — 7 (D | 13,000
T 6 6 | 28500 |-0.4] 3 @ | 36100 |-1.2| 1 ) [ 18400 | 1.7| 10 10) | 29,700 | 0.4 [ 1) | 980 |-20| 1 @ | 1620]|-18 — 2 @ | 13,000
AT 3 (3) | 18,500 | -1.4| 1 (1) | 34,00 | -0.9 | 1 (1) | 12,400 | 0.8 | 5 (5 | 20,400 [ -0.8 IR A Tm 6,500 | -0.9 - - 1M 6,500
REGH 10 (10) | 26,100 | 0.4 4 @ | 42,80 | 0.0 - 14 (14) | 30,900 | 0.3 Wi 2 (@ | 21,400 | 0.6 - — 2 @ | 21,400
IR 1) | 20,500 [ -1.0f 1 @ | 22,90 |-1.7 — 2 @ | 21,700 | -1.4 =L 1) | 14,000 | 0.0 — — 1) | 14,000
e 1o | 9,30 -07 — — T | 9,30 0.7 EE:1 3 @ | 7.600|-1.5 — — 3 @ | 7.600
EHG 1 (1) | 8600|-1.5 — — 1o | 8600 -1.5 it ER T 2 @ | 10,900 | -0.1 - — 2 (@ | 10,900
AR AR 1) | 3400 | -2.9 — — 1@ | 3400 | 29 ENIIESS 1o | 13300 23| 1 @ | 19,600 -0.5 — 2 (@ | 16,500
AR 1) | 300 |-29 - - T | 3000 | 29 L5 3 @ | 7,50 20| 2 @ | 20,90 | 150 — 5 (5 | 16,400
{5 A FERT 2 (2 | 17,400 | -0.6 1 (1) | 23,100 [ -0.9 — 3 (3 | 19,300 | -0.7 A 2 @ 7,200 | -0.9 - — 2 @ 7,200
23R 6 6 | 6580 | 93] 3 (3 |184300| 53 - 9 (9 |105300 | 7.9 SRIET 3 @ | 21,100 | -1.5] 1 (1) | 26400 | 22 — 4 (&) | 22,500
[S:1 2 @ | 20500 | 20] 1 @ | 21,700 00| 1 @ [1380| 00| 4 & | 19100 10 /NG BT 3 (3| 34,100 0.7 1 (1) | 44,400 | 0.2 - 4 (@ | 36,700
SR 2 @ | 11,100 -09] 1 ) | 1490 | -0.7 — 3 (3 | 12,300 | 0.8 =N 1) | 18,700 | -1.6 — — 1o | 18,700
L 1 (1) | 15500 | -0.6 — — 1) | 15,500 | -0.6 1/ AT 2 @ | 16200 |36 1 (1) | 27,100 | -1.5 — 3 (3 | 19,800
£ A0ET 2 @ | 9100|-1.9] 1 ) | 14400 |-20 — 3 @3 | 10,900 | -1.9 EY-ELG 1) | 480 |-1.7 — — 1 | 480
T REHET 3 (@ | 41,80 |-1.3] 1 ) | 43,300 | 2.0 — 4 @ | 42,200 | 1.5 % RR R 1 © | 1850 | — | 1 | 270 85 — 2 (1) | 22,600
el 3 @ | 14000 |-1.1] 1 1) | 2890 |-1.4 — 4 @ | 17,700 | 1.2 i AT 2 @ | 9600 |-20]| 1 () | 15100]-3.2 — 3 @3 | 11,500
BAT 1@ | 1500 | 0.7 — — 1@ | 15000 | 07 UNIES T | 7600 -1.8) 1 | 920]|-28 — 2 @ | 8400
REFAT 3 @ | 15100 | -20] 1 ) | 22,300 | 26 — 4 @ | 16,900 | 2.1 RABET 2 @ | 8200|-1.6] 1 (1) | 1580 |-25 — 3@ | 10,800
B 3 @ | 19,90 |-1.8] 2 @ | 2580 |-23 — 5 (5 | 22,300 | -2.0 S5 T | 3,30 | -29 — — 1M | 3,300
R 5T 2 @ | 140 |-1.3] 1 @ | 13300 | -1.5 — 3 @ | 12,000 | -1.3 E5R 275 (272) | 25,100 | -0.5 [ 111 (110)| 52,500 | 0.4 | 11 (1) | 21,900 | 0.9 | 397 (393)| 32,700
GELT 1) | 19600 [ 00| 1 (1) | 21,400 |-1.8] — 2 @ | 20,50 | 0.9 A s AR RBERT
oIl 1) | 350 |-20 — — 1 (1) | 3500 | -20
TER 1o | 15000 [ -t.2f 1 @ | 24700 2.0 — 2 @ | 20,300 | -1.6
)11 BT 2 @ | 12,000 |-1.2] 1 ) | 2000 |-24 — 3 (3 | 14,600 | -1.6
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